&

BT B B &E & W
- I T
FHIN E B i g
Moo %R E EENE >

= 3
WO Jo
i

£

3
=]
i

iul
L
H
EH

7 58 il 1 7= dn WA IEIE B

& 2: 2020312313000296

ROSE Systemtechnik GmbH

Erbeweg 13 - 15, 32457 Porta Westfalica, Germany
ROSE Systemtechnik GmbH

Erbeweg 13 - 15, 32457 Porta Westfalica, Germany
Phoenix Mecano India Pvt Ltd.

Plant -1 & II, Pirangut Industrial Area, Post Gohotawade, Plot 388/389,
Village Bhare, Taluka Mulshi, Dist-Pune - 412115, India

Z5h5e

D R

Exeb IIC Gb, Extb IlIC Db

GB/T 3836.1-2021, GB/T 3836.3-2021, GB/T 3836.31-2021

Bttt + A T s + SRIE R

iR SAa CNCA-C23-01: 2019 (EEIMEFRIAESEERN FHIRBSK)
#1 CNEX-C2301-2019 (GEFIEF=RIAESCIEAN BHRBS) AIEK,

FrERtEREBE NI (3 M) .

EREERER: 202010 8 28 H
MEHEE: 2023501 B 14H EYHIZE: 2025F 1085 27 H

IEEAYBAFEBERIHKERERERBEEIRGHRIT.

CNEX

U N 7%7“\ 2

£ % 3

5@ Q’l/ V.
CNAS :ﬁ%num

dee . EPHBRE ST ERAT e as

Mk www.ccc—cnex.com Modlt: PETEEEMAH{MEILE20S MREIZRES: 473008

ccc.china—ex.com

cN 0022392

1% . 0377-63239734 HB#8: ccc@cn-ex.com



() ®=EEFEH =R UEES
( B DT )
# £: 2020312313000296
F11 il

FmtEXER:
1. NEBBESRUT:
= UK

26 *k *k *%

(1) (2) (3) (4)

(1) : B85, MEARE

(2) : BETRES (WEX)
(3) : KE#F, BRTFRES
(4) : BEEF, HRTFRES

i 26.******
mERRRs
RIS 26.08 08 06 Z 26.41 40 20 K (mm) | &(mm) | 2(mm)
(Ex ¥rAEHMR)
=/ 80 75 56
5K 400 405 201
RIS 26.88 01 00 % 26.88 04 00 £ (mm) | B(mm) | Z&(mm)
(Ex-Okta $8-9M5
=M 81 81 75
85X 200 200 128
RIS 26.14 01 00 Z 26.14 03 00 [ (mm) | B(mm) [ &(mm)

A& BHE: 2023401 B 14H

(%
\=

KSUEDN

B
* =)

i ’%f\%

S

\& v/ A~ i
SRR R S R 5 CVAS des,

Hodlk: RENTEE AT RRILE20S
BiE: 0377-63239734

ccc

BB EI4RAL . 473008
MB#H: ccc@cn—ex.com

Mt www.ccc—cnex.com
cce.china—-ex.com



EH

( Bff DT )

X 5 il 1% 7= am WA IE IE B

#§ £: 2020312313000296
F2RHE3IA

(Ex-BpEEEER]-H1M %)

=N 270 170 136

BA 541 270 136
FUE 26.12 20 00 = 26.40 60 00 £ (mm) | B(mm) | F(mm)
(NBIEZ Ex INEFIE M Ex JM55)

B\ 200 120 100

5k 405 605 252
BIS 26.0122 15 ZE 26.0144 15 £ (mm) | E(mm) | E&(mm)
(Ex BEFEIINFT)

=/ 177 177 145

BA 360 360 145

NERE:

-55 °C~+127 °C iSRRG
-40 °C~+100 °C ¥ E SRR
-40 °C~+100 °C #HR&ERE
20 °C~+85 °C & T R E
20 °C~+100°C e

-50 °C~+100 °C ¥ mono duro clear 8099 & PC &, S
XX °C~+105°C JMEH Ex-BREREERl-AMS, INBIRZEE EX INEFIRZE Ex M55 (R

INBEBURT(EFRIEE)
BrPER: 1P66

HEEMZI AR : M6x60, M8x50, M10x60, M12x80

FhiEtRaE. Exeb IC Gb, Extb llIC Db

fhk&kBHR: 202301 B14H
?
A >

A

“cce FIPHRFIEER

E?
2

\’/

EE ,ﬁ%f\i

AP AT

,p\e/ﬁﬁ‘_ﬁ BE JIN= —_I CNAS PRODUCT

\l CNAS C208-P

Rtk : www.ccc—cnex.com Hbiik. hEEAEATMEILE20S

cce.china—ex.com Hig: 0377-63239734

MRBI4RAL: 473008
HB#H: ccc@cn-ex.com



G,

-H

2K 5 il 1% 7= A UE IE 5
( B 5T )

& £ 2020312313000296

- ST RHRRR AN R R A ST HE R T,
2. REMERKH:
- REEBSTTHIIMS RN R —E 1T,
- Hith =R eERiREF.
3. IEBXRERE:
- FERESRISRS: CQST2006C005G, CQST2006C005G/01
- I HERE: CN2020Q010227
4, IERTEER:

- 20234015 14 B% 1 RE&E:
1) FRINERETVEEE.

fMAZBHE: 202301 B 14H o I{ _
2D T - %

= =
m & Y, } AP o
| : - i IN= CNAS Zouer
cecc  EPAPBEESTATAIAIRA R a7 cwwscuss

Mk www.ccc—cnex.com Hudk: hEEABEThSILE20S BB 4RAG: 473008
ccc.china—ex.com Higf: 0377-63239734 HE$E: ccc@cn—ex.com




